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Confidence Intervals and Hypothesis Tests for (1 – (2 (§§ 10.1, 11.1)
If independent SRS’s are drawn from normally distributed populations, a confidence interval estimate for the difference in the population means, (1 – (2, and the test statistic for a hypothesis test about the difference in the population means (1 – (2, (H0: (1 – (2 = (0, the TI calculators use only the most common case: (0 = 0) are:

1)
not assuming that the population variances are equal, (“unpooled” t-procedures)
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(use Welsh’s formula or df provided by a calculator or software).

On TI calculators CI  with 0:2-SampTInt… and Pooled:No
On TI calculators test for (0  = 0 with 4:2-SampTTest… and Pooled:No
2)
If we assume that the population variances are equal, (“pooled” t-procedures)


(We won’t use this for reasons stated in the book in the last paragraph on page 493) 
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 where df = n1 + n2 – 2 and
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Note that the degrees of freedom for these “pooled” procedures are at least as large as they are for the “unpooled” procedures.

On TI calculators CI  with 0:2-SampTInt… and Pooled:Yes
On TI calculators test for (0 = 0 with 4:2-SampTTest… and Pooled:Yes


The producer of Gobbler frozen turkey dinners claims that their new “reduced fat” dinner contains less fat than Big Bird frozen turkey dinners. An independent research group takes a sample of 12 Gobbler dinners and 15 Big Bird dinners and analyzes the fat content (in grams). The results are summarized below:

	
	Gobbler
	Big Bird

	n
	12
	15
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	7.4 g
	9.6 g

	s
	1.6 g
	2.7 g



A.
Use your TI calculator (0:2-SampTInt…) to obtain a 98% confidence interval for 
(BB  (G , the difference in the population means. 



pooled = No (df = __________)
________________________________________


pooled = Yes (df = __________)
________________________________________


B.
Do the data provide statistically significant evidence that the producer of Gobbler dinners claim is true?


1.
State appropriate null and alternative hypotheses.



H0:  ___________________
HA:  ___________________


2.
Using the “unpooled” procedure on your calculator, 


a.
the degrees of freedom are
df = __________


b.
the observed value of t is
__________


c.
the P-value is
__________


d.
Write a properly worded and meaningful conclusion.


3.
Using the “pooled” procedure on your calculator, 

a.
the degrees of freedom are
df = __________


b.
the observed value of t is
__________


c.
the P-value is
__________


d.
is the conclusion different from above? If so, write a properly worded and meaningful conclusion.
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